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Chapter 1

THINKING LIKE AN ECONOMIST

Boiling Down Chapter 1

How do people choose among alternatives? No choice is necessary if you can do it all and possess everything, including endless time. If this were the way the world worked, we would have no choices, no scarcity, and no economics. Unfortunately, we are limited in numerous ways, so we have to make choices.

These choices are best made if we know which options will serve our objectives best. If we get benefits from a particular course of action that costs us nothing, it makes sense to take the action. But rarely is any action costless. Determining the costs of an action is one of the most misunderstood and abused processes in everyday life, whether one is running a business or trying to decide whether to study or go to a football game. People do things every day that cost them more than the benefits they receive from the action. They are less satisfied than they could be.

Cost and benefit calculations are often flawed because of hidden costs or the human tendency to base decisions on how things seem rather than on how they really are.   Examples of these problems include the following: 

1. The full cost (opportunity cost) of an action is underestimated because some costs come in the form of oppor​tunities sacrificed rather than dollars paid or in the form of social cost not borne by the decision maker. 

2. Some costs are going to be paid whether an action is undertaken or not. These sunk costs are thus not relevant to the choice at hand and to count them in the cost assessment of a decision is to overestimate cost. There are times when emotion connects a past sunk cost with a present decision so that people make choices that are at variance with economic principles. Examples in the text include the decision to eat less pizza because of a nice gesture from the owner or the decision to stay home from the concert when a storm occurs because the ticket was given instead of pur​chased.

3. The absolute value of a cost or benefit is skewed by its proportion of the total cost or benefit being considered. The WalMart example in the text illustrates how differently people might consider a $10 saving depending on the size of the purchase. It is dollars that are saved, not proportions even though it may feel as if proportions matter

4. In considering whether to increase some activity, like launching boats in the text example, it is common to count the average cost of the additional act rather than the marginal cost, which is an accurate measure of the added costs. Efficient decision making occurs when marginal benefits equal marginal costs.  

If these four pitfalls in calculating costs and benefits are avoided, better cost-benefit analysis will result and human satisfaction will reach its optimal level for a given set of opportunities. This assumes that each person pursues what they believe is in their best interest. Adam Smith argued that if people do this in a morally appropriate way resources will flow to their best use as if guided by an invisible hand. He did, however, have much to say about why, in a social system, there is need for considerable qualification of this principle. 

Casual observation shows us that economics based on the self interest motivation does not explain all behavior. In fact there are many occasions where other motivations bring greater happiness. These will be explored in the text along the way adding richness to the human decision process. Those who are keen observers of behavior will find economics to be an excellent tool for satisfying the inquiring mind since so much activity in our everyday experience can be modeled by thinking economically. 

Questions in economics that deal with systematic principles in the social system are called positive questions while those that involve value judgments of some kind are referred to as normative questions. Most economic analysis attempts to deal with positive questions while recognizing that one never functions in a totally value free context.  
Chapter Outline

1. Microeconomics is the study of how people choose under conditions of scarcity.

a. If the benefits of an alternative outweigh the costs, that alternative is chosen.

b. Economic models are designed to help predict what choices will be made.

2. Decisions to proceed are made when the benefits of doing something exceed the costs of doing it.

a. The costs and benefits must be the full opportunity costs and benefits.

b. The calculations are usually unconscious or not thought of as explicit calculations. People simply behave as if they make the calculations. 

3. Choices are often made incorrectly because of common pitfalls in thinking.

a. People tend to ignore implicit opportunity costs.

b. People consider sunk costs that should be ignored.

c. The mind tends to see things as proportions of the whole rather than in absolute dollar amounts.

d. Marginal analysis rather than consideration of averages is essential to good decision making when one is considering changes because the costs and benefits that really matter are those at the margin.

4. The "invisible hand" described by Adam Smith allocates resources to their best use as people pursue their preferences, but Smith also believed that, by nature, humans are inclined to consider values and other variables outside the self-interest framework. 

5. If external costs or benefits are present, the market is unable to allocate as efficiently.

6. Homo economicus does not attract others because egoistic motives ignore too much of the richness of life.

7. The economic naturalist observes life and asks the question “why”. Answers are often found by using the cost-benefit framework described in this chapter.

8. Normative economics deals with what should be, and positive economics seeks to explore how the economy works.

9. Micro behavior focuses on the individual and the organization while macro aggregates the micro behavior and looks at the summed categories. 

Important Terms
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microeconomics
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macroeconomics

cost-benefit analysis


Homo economicus
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proportional thinking

explicit costs 



marginal analysis

implicit costs 



economic naturalist

sunk costs 



normative economics

invisible hand 



positive economics

A Case to Consider

1. Matt and Megan each have computer assembly companies in a small city. Matt is renting his facility and Megan had her facility given to her by her father. (True\False: Explain) From what we know so far, we would expect Megan to have lower production costs than Matt.

2. When Matt adds all his costs and divides them by the number of computers produced, he has an average cost per computer of $800. He offers a computer to his father for $600. His father hesitates because he does not want Matt to pay $200 of his computer. Matt says, “Don’t worry dad, I’m not losing money on the computer”. Explain how Matt might be telling the truth.  

3. Megan buys 90 motherboards for her computers each month. They cost $50 each. If she ordered 100 in a month she would qualify for a quantity discount and pay only $49 for each. (True\False:Explain) Megan knows she can not sell more computers, but she knows she can sell the extra motherboards to Matt for $45 so she should buy 100 each month.

4. Matt offers a two year warrantee for his computers and Megan offers only a one year warrantee.  One of Megan’s friends learns that when Matt went to a two year warrantee his profits went up even with warrantee costs considered. Megan’s friend passes on the information to her and then says: You should extend your warrantee to two years and you would have more profit. (True\False:Explain) The information about Matt’s increased profit is a normative statement and the comment that Megan should extend her warrantee is a positive statement. 

Multiple-Choice 

1. Scarcity, as economists use the term, 

a. is slowly being eliminated from large parts of the world, and there​fore microeconomics is focusing more on choices where scarcity is not present.

b. is a fact of life for both rich and poor.

c. means that it is impossible to get things that are important for normal well-being.

d. would not be necessary for microeconomics to exist.

2. I checked out a painting from the library to hang in my home office, but when I got it home it was much too big for my wall. When I took it back the library hung it on a wall in the main reading room and there it looked too small. The explanation of why the same picture can look both too small and too big is the same as the explanation for which story from your text.  

a. WalMart case.

b. Should I go skiing today?

c. Should I drive to Boston or take a bus?

d. How many boats should Tom launch?

e. More than one of the above.

3. Mathematicians can tell you where on the pool table a cue ball will have to be hit in order to make a shot. They do this by calculating the angles involved in the shot. If a champion pool player hits a particularly tough shot, it means that he

a. calculated all the angles like the mathematician.

b. practiced enough so that trial-and-error learning makes him as good as if he knew the mathematics.

c. was lucky.

d. hired an economist to model what the perfect shot would be like.

4. Economic theory can best be judged by

a. how well it predicts outcomes.

b. how well it describes people's motives.

c. how realistic are its assumptions.

d. the amount of money economists make.

5. I once bought an expensive can of varnish for a floor I intended to sand and varnish. I soon realized I could not do as good a job as a professional sander would do. However, because I had already bought the varnish and the contractor would use only his own varnish, I did the job myself. In this case I

a. effectively used cost-benefit analysis.

b. failed to ignore a sunk cost and therefore made a bad decision.

c. did not count all the explicit costs of doing the job myself.

d. was led by an invisible hand to make the right choice.

6. In Example 1-2 in your text, you do not go skiing because the benefits of $60 are less than the costs of $85. Now add one new factor to the decision. Part of the reason you are willing to work for the professor for nothing is that a friend is also working for the professor and you intended to work with her that day. The pleasure of associating with the friend is worth $15 to you, but now that friend decides to go on the skiing trip with the group that asked you to go. Your cost-benefit calculation will change in which of the following ways?

a. Costs of going drop $15 and benefits go up $15 so I go skiing.

b. Costs of going stay the same but benefits of going increase by $15 dollars, so you still stay and work.

c. Both costs and benefits of the trip go up $15 so you still stay home and work.

d. Nothing is changed since the value of a relationship is not a real opportunity cost.

7. One day in the faculty house a professor was pontificating on how a college should approach new program proposals. He said, “If we can not do something at the highest standards of excellence we should not do it at all.” Which of the following evaluations of this statement is correct.

a. The professor is entitled to his opinion and economics can not make a judgement on his viewpoint.

b. The professor is right because excellence maximizes  benefits of a project..

c. The professor is wrong if the costs of going from near excellence to excellence exceed the value of the gain from such a change.

d. The professor is right because doing something poorly can never be justified.

8. After struggling for four weeks in a calculus course, a student came to my office for advice. I listened to his story and found he was nearly failing but did not want to drop the course. The deciding factor in his mind was that he had put in such hard work, which would be wasted if he dropped the course. If the term were just beginning, he said, he would drop the course even without picking up another to replace it. Given this, what advice should I have given if I felt he was working up to capacity?

a. Drop the course now.

b. Keep trying to salvage a passing grade.

c. Wait until the deadline for drops and then decide.

d. Offer consolation, but say I had no clear way of knowing whether he should change his mind and drop the course.

9. Which of the following is an external cost of a community rock concert?

a. The fee paid to the performers

b. The loud music heard by rock lovers all over town who could not af​ford the tickets

c. The loud music heard by rock haters all over town who did not want to attend the concert

d. The extra business the local merchants received from the crowds that attended.

10. In Example 1-6 of your text, the refunded pizza eaters ate less than the non-refunded eaters did. This illustrates that 

a. Rational choice analysis is precise and accurate even in pizza eating.

b. Context, emotions and subjective feelings effect behavior in ways that rational choice would not predict.

c. Rational choice analysis is not helpful in evaluating eating behavior because eating is a need rather than a want.

d. People with less money tend to eat more food.  

11. Adam Smith’s invisible hand 

a. requires that economic actors are totally self-oriented.

b. conceived of a transcendent being as governor of economic activity.

c. allowed for human motivations more complex than homo economicus.

d. referred to the government’s role in the economy.

12. The narrow self-interest of Homo economicus may work to his disad​vantage more than he realizes because

a. there are implicit social costs to blatant self-interested behavior. 

b. the pursuit of self-interest is no fun. 

c. there are no social benefits from individual self-interested behavior. 

d. all the above are true.

13. Which of the following is a normative statement?

a. Economists have a higher life expectancy than do miners.

b. Economists deserve to have lower life insurance rates than do miners.

c. Economists receive higher pay on the average than do miners.

d. Economists pay more taxes on the average than do miners.

14. Which of the following statements is false?

a. Macro tries to explain how entrepreneurs go about profit maximiza​tion.

b. Micro examines the process of individual markets in the economy.

c. Macro explores the causes and cures of inflation.

d. All the above are false.

15. Which of the following should be counted in the charge for lending your car to your roommate if your intention is not to gain benefit from such a rental?

a. a portion of the regular maintenance charges

b. a portion of the insurance payment on the car

c. part of the license fee of the car

d. some of the fee the college charges you for parking your car

e. None of the above should be counted in your charges because only gas is not a sunk cost.

16. Which of the following will help to get class started on time with better attendance?


a.   having the room door in the front of the classroom rather than in the back. 


b    holding class at 10 AM rather than at 8 AM. 


c.    having a short quiz at the start of each class. 


d.   all of the above would work to get class going. 

e.   none of the above make any difference because students operate out of habit more than anything else.

17.  Which of the following would be true of a person who was totally homo economicus?

a.   she would never vote in elections. 

b.   she would never go to church

c.   she would never marry.

d.   All of the above are right answers. 
  

Problems

1. If all people can have all they want of something at zero price, we say that there is no scarcity of that item.

a. Can you think of any such items?

b. What about a sunset, air, rain, or friendship? In what sense are these things scarce?

2. When speed limits were increased from 55 to 65 miles per hour a news item appeared in the Chicago Tribune , which showed that deaths on Illinois highways increased since the speed limits were raised to 65 mph. Assuming that the faster speed caused the deaths, does this prove that cost-benefit analysis was not used in the decision to return to the 65 mph speed limit. What is being implied if we do not go back to the 55 mph limit?

3. Carl has a car loan of $2000, which costs him $20 per month in interest. Ernie's identical car is paid off. They both live in a house with Curt, who wants to borrow a car for a month at Christmas break. Both Ernie and Carl have a policy of loaning their car to people who are willing to pay the average cost per mile. Ernie charges the same price for his car as Carl does. Curt insists that either Ernie is overcharging or Carl is under​charging. Is Curt correct in his analysis? Explain.

4. The economic naturalist finds that rational choice economic theory is help​ful in explaining many things in life. I recently observed that $1 bills in the church offering plate are folded up more times that larger bills. Is there a rational choice explanation for this phenomenon? Explain.

5. This year you paid a room and board charge at your school that gives you all you can eat for 20 meals a week. For next year the administration is considering going to a credit card charging system where students swipe their cards through card readers for each item they eat. There is an individual price on each item that reflects its cost. Use the words sunk cost and marginal cost in a paragraph to describe what you think will happen to the quantity of food consumed, and the amount of food wasted.

6. The British redcoats in the American Revolutionary War lost many sol​diers because of the rather strange method of lining up in rows wearing a bright color and marching in the open. The colonials hid behind trees and shot at the easy targets. Without economics, one might consider the British rather stupid. With economics, there is a good explanation for their practice if one assumes that the colonials were highly motivated sol​diers seeking to gain freedom while the British soldiers were not very ex​cited about the war. Start the analysis with several assumptions:

a. The soldier's first objective is to stay alive and the second is to win the war.

b. The best way to stay alive is to quietly leave the army.

c. The general's first objective is to win the war.

d. If soldiers pursue their objective, they will desert. What might the general do to pursue his objective? Write out the general's cost​ benefit thinking as he plans his attack strategy.

7. Is there such a thing as a purely positive economic analysis? Is it possible for people to keep their value judgments out of data gathering and analysis or even the choice of problem to study in the first place?

8.   Using cost-benefit analysis, try to analyze the effects of a severe recession like the one begun in 2007 on the decision to attend college.  Would you be more of less inclined to put off college or begin college now if you are a high school graduate this year?

ANSWERS TO QUESTIONS FOR CHAPTER 1

Case Questions

1. False. Megan has exactly the same costs as Matt because what is an explicit factory cost to Matt is an implicit factory cost to Megan. She could rent her factory for an alternative use and she is sacrificing that income by using the factory herself.

2. Matt is truthful if the marginal cost of producing the computer is $600 or less even if the average cost is $800. Since the fixed costs of the operation will be paid whether Matt sells a discounted computer to his dad or not Matt is really not sacrificing them as an opportunity cost of his dad’s computer.

3. True. Even though her average cost per motherboard drops to $49 each and her average benefit from selling to Matt is only $45, she should buy the additional 10. The marginal cost of the extra 10 is only $400. (90x50 = 4,500 compared with 100x49 = 4,900) The marginal revenue from Matt for the extra 10 motherboards is $450. (10x45 = 4,500) Therefore Megan increases her profit by $50. This assumes Matt does not increase his sales and hurt Megan’s sales. 

4. False, Matt’s profit increase is a statement of fact while the comment to Megan suggests she should change her policy. The word “should” implies a value judgment that Megan values profit more than leisure or some other activity. 

Multiple-Choice Questions

1. b, among alternatives would still be necessary.

2. a, The picture is viewed in relationship to the size of the wall on which it hangs. Therefore, the explanation is pitfall 3 in your text where saving at WalMart is viewed in relationship to the amount of money spent.  

3. b, Practitioners get, by trial and error, where theoreticians predict they will go using models. In effect, the practitioner behaves "as if" she worked with the model.

4. a, Prediction is the main objective according to mainstream theory, but the ability to describe and understand the system is gaining credence as economists start to talk about storytelling and rhetoric as part of the method of doing economics.

5. b, The varnish was a non-returnable sunk cost.  The relevant question was: If I was starting from scratch with what I know now, what would I do? (The truth is I really did call in a floor expert.)

6. a, What was a cost of going becomes a benefit, so costs fall by $15 and benefits rise by $15. 

7. c, Most likely the marginal benefit of the last effort needed to reach excellence will be small relative to the benefit that might be gained from an equally costly project that didn’t exist before, but now is a very good program. Thus the net benefit of programs that are less than excellent usually exceed the net benefits of programs designed to go from a position of near excellence to excellence.   

8. a, Sunk costs are irrelevant and the hard work is over, never to be recovered. However, one might argue that the ongoing psychological effect of being defeated in a course is a cost that is not sunk at the moment. The psychological pain of continuing the struggle presumably is involved in the present decision-making process.

9. c, Rock lovers get an external benefit while rock haters absorb the cost of fighting off the noise.

10. b, Rational choice analysis does not predict well when factors like emotions and subjective feelings are involved in behavior.

11. c. Smith had a rich understanding of the interdependence of human preferences and allowed for an impartial spectator as a guide to moral behavior.

12. a, People often detest the egotist and avoid him, thereby limiting his options for utility. In a sense, option b would be an answer except that when the disutility of “no fun” outweighs the utility gained from the activity in question, then the behavior ceases.

13. b, Deserve is a value judgement. Someone else may not think we deserve lower rates.

14. a, Micro, not macro, does this.

15. a, Maintenance is the only expense that will go up for you as your roommate uses the car.

16. d, Hopefully all the options will either increase the cost of being late or increase the benefits of being on time. Those who answered e may have trouble in the job market after college.

17. A, the costs of studying candidates and going to the polls almost certainly outweigh the expected benefit of one vote. There can be significant private benefits from the other options. 

Problems

1. a) Your list is accurate if all who want to enjoy them can do so free.

1. b) Friendships take time to cultivate. To have a sunset or rain, you must give up sunshine.

2. Life is being traded off against time. If we do not go back to 55 it is because we believe that the time saved with 65 mph laws is more valuable than the savings in life that would occur if we had 55 mph laws.

3. Curt is wrong because he does not understand that both friends have the same cost per mile.

4. Small givers are embarrassed and seek to hide their lack of generosity. It is in their interest to appear more generous than they are so they hide the number on the bill by folding it.

5. Because your board payment is a sunk cost, you are inclined to eat until the next unit of food brings you no marginal benefit since the last unit of food is free as far as you are concerned. Therefore you eat more than you would if you paid for each item separately. Because you will be more careful to take only what you will eat, less food is wasted.

6. The General reasons that, although the cost in soldiers will be high, he must put them into a formation and have them wear colors that will make desertion very obvious and, therefore, very costly. If the costs of staying with the army are less than the costs of deserting, the General believes he will be able to maintain an army. The inaccuracy of the guns may actually have meant that the cost in soldiers was much less than it appears to the person familiar with modern weapons.

7. Probably not, and the gulf between the two types of analysis is slowly being critiqued. Data is increasingly being understood in terms of perception, interpretation, and context.

8. Many factors might be considered. If you can’t find a job now the opportunity cost of going to college is reduced. If you feel the job opportunities will still be scarce after college or if you believe there will be so much change in labor markets that your present interests will be less useful after college, then the benefits of attending college go down. If your family’s income is at risk due to the recession and borrowing for education would be necessary, then the cost of college rises. The net effect of all these and other factors make it difficult to predict whether college enrollment will rise or fall in these recession years. 

Homework assignment                            NAME:______________________________
1. You have had five equally weighted tests in a course and your test average in the class has unfortunately fallen from 90 to 88 to 84 to 81 to 79 where it is now. What score did you get on each exam? You have a final left that is weighted the same as the other tests. What is the highest grade you can possibly get in the course if the six exams are all of the grade? What does this tell you about average and marginal test scores?

2.  Most people conclude that the costs outweigh the benefits of dealing with grievances by a suicide bombing attack. Yet some willingly engage in such activity. Are they miscalculating or do they value costs and benefits differently? Explain. What does this tell us about cost-benefit analysis?

3.   A Wall Street Journal article told how most short order food restaurants are going to the single winding (serpentine) queuing line for their customers even though it is less efficient than the self forming series of lines at the counter. Why do you think this economically irrational behavior is occurring?

2. Find a newspaper clipping which relates to one point of the chapter outline shown in this chapter. Identify which outline point is involved and how the story relates to it.

5.   Based on this chapter, consider why political decisions often seem inefficient and inconsistent with good economic thinking? Give one specific example to illustrate your answer.  

